BEH4 BRIBM[ICETSKERSSRBELHE

7oy (EE, 88K, hRE, AKX, REFX, REX)

cm

-20

-40

w —iE
K

-80 N
ELEKE - []ES
= (E) |1
o0 IEANE (E) BT Frzx
— REKX
-120 d
-140
\/’—-—___\__/___—H-——-—"_—"'_-'_'_\__,——_—-———-__.
-160
fBfl10E 0= 0 205 505 605 FHIE F2aE
. EH7Oy s (WK, BE, KER, £2IK)
5 T

\ N |
-45 \

-95

4 _\ —T
\ - — K
-195 FIEX
EILRAGE - F2IK

TEmRKE (ME) BT

-295
-345

fEfleE BfleEs BflzeE BilseE fBflaoE fBfisesE FHisE Tr1E  SflsE
o @m7oy s @RIK, 2K, 5=r)IK)

0

= ™~
— N\ -

\ —EIIE
150 — R
=E)IE
-200

-250

TEANKERET

EVAKE -
TRAKE (BE) T

-300

AflosE Bfl19E [Bflz9E BflseE [BflaoE [BflsoE F5




Fabroy s FEX., FEAK, £FX. EE, HEX, BRX)

cm
0 \
10 ; \___
— \—\_‘___________—_,_,—
-20 .
30 —HEK
-40 — EAX
—— X
-50 \_,\_\ JBEX
~— —
60 \ -\ — BEER
 —— T —
-70
TEMkEET AN R
[—
-80 EARAE -
THMAE KE) siT
-90
om BE7oy s FfEHX. F5FX. BESX. FEFX, AlX)
10
ELRKE -
. / T#AKkE (0E)|reiT S —
| \//_i e
\
5 e = \ —
, — BEX
0 P e — EEER
/_// FHK
-15 .
/\\-\_,_  — — FERE
| S ————
-20 \/-\ /-’_/
s \\’\,

-30

o
io

I
i




